Mixed Operations with Brackets

Name: Class:

Calculate each of the following

2x12)x(240+112) =

(999 + 333)x (3x 13) =

(245 +667)+ (21 +17) =

(894 + 888) + (40 - 22) =

(2 x 11) x (406 - 144) =

(387 -223)x (18 ~6) =

(2 x 1,890) + (27 + 15) =

(125 +115) + (96 ~ 4) =

(213-104)x (12x3) =

(96 +8)x (11 +49) =
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(910-776)x (8 x 8) =

(960~ 4) = (17-14) =

(843 +123) + (28 = 2) =

(15x9)x (300 -262) =

(145-123) x (8 x15) =

(5x528)+(12+32) =

(345 +843) -(3x6) =

(288 -167) x (100 -65) =

(4x660)+(12+36) =
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Answers

Calculate each of the following

(2 x 12) x (240 + 112) =8.,448

(999 +333)x (3x 13) = 117

(245 + 667)+ (21 +17)= 24

(894 + 888) + (40 - 22)= 99

(2 x 11) x (406 - 144) = 5,764

(387-223)x (18 = 6) = 492

(2 x 1,890) = (27 +15)= 90

(125 + 115) = (96 + 4)= 100

(213 -104) x (12x3) = 3,924

96 +8)x (11 +49)= 720

(910 -776) x (8 x 8) = 8,576

(960 +4) =+ (17-14) = 80

(843 +123)+ (28 +2)= 69

(15x9) x (300 - 262) = 5,130

(145 -123) x (8 x15) = 2,640

(5x528)+(12+32) = 60

(345 +843)~(3x6) = 66

(288 -167) x (100 -65) = 4,235

(4x 660)+(12+36) = 55
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